IBHL1Math ~ EXPLORATIONS QUIZ - ABSOLUTE VALUE FUNCTIONS  August 2014

1. This question will ask you to work with the numeric expression 3-2-5-6-3.

a. Evaluate the expression —(3 -2-5-6- 3).
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b. Evaluate the expression —l3 -2-5-6- 3!.
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c. Explain WHY your answers in Q(a) and Q(b) differ.
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2. Inthis question, you will work with the functions f(x) =8-2x (where B> 0) and g(x) = |x|
New equations are formed when you compose with these two functions.

a. The new equationfor y = f og(x) is:
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b. The new equation for y = gof(x) is:
1 mark
Jog (B < | o) —
c. Onthe axes, sketch the function y = f og(x), given that B> 0.
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d. Explain how the graph of g{x) = lx‘ has been transformed into the graph of
y=f og(X)-
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2. Inthis question, you will continue to work with the functions f(x}=B8-2x {where B> 0)
and g(x) = 'xl and the composition y = f og(x)

A solution to the equation f og(x) =0is x =§.

e. Explain the graphical significance of the equation f og( ) =0.
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f Hence or otherwise, determine the value of B.
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g Determine the other solution(s) to the equation f og( x) =0.
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3. Agraphofy =f(x) is provided. The domain of y =f(x) is {(ERI -8=<x=x 8}

a. Onthe same axes, graph y = l f (x} b. On the same axes, graph yr= f xD
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c. Give a BRIEF explanation as to d. Give a BRIEF explanation as to
WHY the two graphs appear WHY the two graphs appear
different. different.
mark {1 mark)
‘ ( AU ¥
e gut |
’PﬁShL Ve g J/M%; all ne ﬁfz;[/g X Yo 1 eS
Ve Values |
O(” ﬁé’y?é’f'{ o A ol M(]({ fﬂg{‘g’wf
iig @(\é\ ace nie DEMRE L&Y @{,1[,_
ng{wz/‘ pveluo (o it

Fun otwn



